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X, = 0,110, B, = 1,000 G
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Cogs=[A+B;]

6 OstwaldFarben (o)

von maximalem (m)C,,

linearen Farbenraum (Cyg Y)EB

Lichtart P00, Y,,=100Q Y, =0 d

Name Bereich X, Y, Z, %, Y, A, A

R, 572775 69.05 40.7 02  0.62790.3701600 491

Y, 496_775 88.74 04.48 406 0.4738 0.5044 575 467

G, 496572 19.89 5397 4.01 0.2554 0.6929541 541c

C, 380572 33.21 50.49 8101 0.1912 03424 491 600

B, 380496 1352 571 77.15 0.1402 0.0592 467 575

M, 572_496 82.37 46.22 77.2 04002 0.2246 541c541

W,380_775 102.0600.0 81.06 0.3604 0.3531 100%

N,380_77501 01 008 036030353 0%

2, 380_775 18.37 180 1459 03604 0.3531 18%

Parameter:

Y & Name
Lichtart POO
¥,,=100 Y, =0
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